=] £ A 2015/10/28 15 28 53 Page
REROBHIER= N 20154E10 5288 (5K) Ex
ER2TEE FAMEBIFHER/NERELBERERS EBMRAOTL (BERIHE L AEELE ?iiﬁ) 101010
T2 A% BT 14 2 3 4 510 eu 71 8iu
BF5(50mH 10/28[ 708 & (6) 7.84/| N BEFO) 7.95/|@0 BE©) 8.00/|HE BAG) R 8.10/|2% &H®) 8.13/| EBFH 25 ©6) 814/ [%A RO 8.15/
OF e NGR | 31~ 35 Bk 8 Bl Eth(6) §-EE B HEEC T g £H
ZF¥5[5 0mH 10/28|GF %0t (6) 8.10/| E&)IAE (6) 8.25/| 8K =T 0 8 44/|2F BEGO) 851/[X% XKO) 8.55/[W% &6 8.56/|INE 4% (6) 8.58/[1AE 535 (6) 8.64/
PRES B BE NGR |- 2R NGR| 75 - 338 AR B-Eg [ B WE # KR4
B¥51000m 10/28| FE kit (6) 2:59.03| =% IKER(6) 3:01. 73| EH =#E(6) 3:02.15|%t  #1sH(6) 3:02.32|1FIL HK(6) 3:04.33| 1A KiE (6) 3:04.92|BK F1E(6) 3:05.12 | h % [F (6) 3:05.62
- 0F %S R ®RE -7l 18- I5R -t g FHREE - FiEm B AES
Z¥5/800m 10/28| @ A (6) 2:20. 85| FhUETHL4R (6) 2:21.00| %0 k& (6) 2:23.16|fE#e B (6) 2:26.20(FK M (6) 2:26.63| LT EZXE(6) 2:29.58| %t FHx(5) 2:30. 98| fE#EEL 2 B (6) 2:31.04
SF %S EEE= NGR| & -t NGR| %5 - £ 2 NGR| A - Bifs e R Ak B aE PN
B¥6[100m e T H0) 12.42/|X# 856 12.50/| R BN 6 K B2 12.70/| %@ ¥ ©) 12.78/|#8R &= 12.79/| B8 WEA (6) 12.80/|F&% %—© 12.84/
& B o - FIRE B ASE(6) f5-B— BB R -£E T B BEHE
BF¥5100m 10/28] & KE®) 13.38/|@@ =50 13.55/| @@ Rz 0) 13.66/—% HE () 13.72/| B3 BAG) 13.81/|%H BLO) 13.84/| %% B0 I EmMEE 13.88/
& A-ft % B F=m # KR4 B3 FEmE= HABIAL(5) F1- K8
ZF¥6[100m 10/28] Z4RZLA7 (6) 13.37/[%) BREO) 13.72/| KEZ 115 (6) AL AG) 13.81/| ARERE ©6) 13.84/| ILAERTE ©6) 13.92/|@% BZ0) 13.04/[2% 2106 13.96/
& B S & ks B B - ZE@ #-£1 B 158 BTt i)
ZF¥5100m 10/28| &8 #HKO6) 14.04/| &)1 2 (5) 14.16/|%08B @ (5) 14.19/ |k BE®G) 14.20/ |4 HZE(5) 14.21/|8@ #HF6) 14.32/ | %% FiEG) B2-B8%FEH 14.50/
& F 5 ER 2 B AES = FH A ER B KA EABRT () B HEEE—
4x100m 10/28|/1-—2= 54.41 °~;- 54.49|%-&8 54.59 |5 1R~ @ 54.83|i%-H& 54.98 |4t - SEEE 55. 24| Hi-HEHR 55.31 | K-£& 55.51
BF5 WE S4B (6) WA K6 W HE (6) =m B BE BN =R WEG) 8 KEG6) EE %06
WoF M 5 6) BT (6) R =42(6) me B2 06) EHH 2N (6) B 41E(6) EE KE(O) 2l f£#6)
kB £Bi(6) =8 %#6) AE FE () S K% (6) INE B3 6) TG A OBEO) P 10
Y85 — B (6) BE LA®) i #®©) $E ER(6) W HA () #K B 6) #H Xt 6) 1BHRA (6)
4x100m 10/28| K- #4 56.85| & £ 5 51.22|&-#ED 57.33| & RE 57.34|%-=ZR@A 57.56| 48 - #&AK 57.66| X-4£&M 57.90| % -4t 58.04
x%5 EHHBL(6) AE BF6) B HEEO) WE TEE6) B EEG) B2 2T (6) B BRI B 1B 6)
WoF B £ 6) i %A 6) KR ZM(6) Mt AL (6) B RAIEO) £% WE®) EWT % (6) ABEEE (6)
T EE6) F+EHR (6) CE0E = 10) HARFHE(®) % 4B (6) NG R (6) $R15 HETE(6) BE 18506
M 22 (6) E2I1)7 (6) 2E 956 @ LEG) Y Y 5 6) HAEAE 6) 23 BE®) BT (6)
BF5 kBB 10/28| EEAREZ AT (6) 1mdd | FER K (6) md2| 548 ELZ(6) 1m38 | #&)Il BE—(6) 1m35 | B&FH V-1 (6) 1m35 |1Y" IXHEA (6) Ai- )il 1m30|BY ZEMEHE (6) & -HF 1m30
OF it-EmeA E EBEDA 15 - ZE@ BB BEARL6) # HTE K% 6) ZBEH
TF5|EEH 10/28 | & &% (6) 1m36 | ¥4I fE1E (6) 1m32|#HE B (5) m30 | FH FKEO) =-=2H 1m30 | #h)Il  EREL(6) 1m28|#B/M =30 (6) AiI-HH 1m25
| F B A FmE B &1l EARTHN6) F LH Fe ] WASZEG6) - LH
BF5|EiERk 10/28| % #E2 A (6) 4m87/ 0.0| K }i A (6) 4m74/ 0.0/ NE 385 (6) 4m68/ 0.0| =R EFHA (6) 4mb5/ 0.0| &% X (6) 4m54/ 0.0|fk@k % th (6) 4m48/ 0.0(#BA H#E1E (6) 4m41/ 0.0|EEE fFE (6) 4m37/ 0.0
5F -3 B & A E T Bl 57 B EHE - EEEE g-Res
Z¥5| EEHE 10/28 |#AiR %7/ (6) Am34/ 0.0 ZZAHETE (6) 4m29/ 0.0|Fk 2R (6) 4m20/ 0.0 (€O FifE (6) 417/ 0.0|#8 #E (6) 4m08/ 0.0|/kiB Fi& (6) 4m02/ 0.0| =l P53 (5) 3m99/ 0. 0| B &k (6) 3m99/ 0.0
| F & 25 T ST A 7k # ZEE B M3t B ] - fEEmE
BFh|R—)LiBf 10/28 | Bk B4#k (6) 91mb5 | 2% &K (6) T4mb5 | EEBE  F1F (6) T1m98 | T BB AER (6) 69m21 | KFNE k= (6) 68m32 | ¥R A (6) 66m06| HA i (6) 65m78 | Eik RAZ (6) 65m65
OF A HEE NGR| & k4t il A HER KK - R A-RE & E8
5| R—)L1EIT 10/28|#[R <7 (6) 65mi6| =% EH(6) 59mb1| 28 A (6) 56m89 | &% D (6) 51m75| %% K3k (6) 51m05 | 2% F5(6) 50m99| FH L EF(5) 50m97 | FE  #tFE (6) 50m30
r;ﬁ;‘? B=) NGR| 75 - i A FIRE =18 # KBAR - FIRE BBl & en
E¥K100m 10/28[%K E6) 13.95/|%% BHO) 14.05/[50 %B(©) 1411/ BAREH 6) 14.15/|8 WEE) 14.20/| B8 *% 6 14. 28/ | &2 B) (6) 1429/t 1206 14.42/
il F R 155 R AER ST B 2sm - 2 B M3t
ZF¥KR100m 10/28|BEIZ S 2 5 (6) 14.61/ 3@ C A (6) 14.85/| /Ml 18 (6) 14.93/| % L3 0) 14.97/|R& 2% (6) 15.01/| 548 1HE (6) 15.02/| 2% 1550 (6) 15.04/| 5@ 27t (6) 15.15/
il BT #=m BBk i #1588 %S EEE— 2R BEH

Rl (NGR: R#rEceR)



